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A knot diagranﬂ
Ideals for irreducible
Iy

component#ﬂ)f Xpar

('t — ' 4 3u? — 20t + 6u® — 3u? + Tu® — 207 + 6ul +dut + 20 fu+ 1)

* 1 irreducible components of dim¢ = 0, with total 14 representations.

1The image of knot diagram is generated by the

software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.
It = (u'* —u'®+3u'? — 20 +6u'® — 3u® + Tud — 20" + 6ub + 4u* +2u? +u+1)

(i) Arc colorings
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—u8 — 2u8 — 2ut — 242
(ii) Obstruction class = —1

iii usp apes
iii) C Sh
= 4ut? — 4!t + 8ul0 — 8u? + 16u® — 1207 + 1218 — 12u® + 8u* — 4u> + 4u? — 8u — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 e w41
C2,Cs w5t 3u 1
c3,C7 ut—uB 4 a1
C6, C8 u =B o —3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y14+5y13++3y+1
C7
€2, C5,Ce yt oy 4+ 15y +1
C8




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

uw=0.772300 + 0.6265351

—1.19029 + 3.412711

—2.10600 — 2.625161

u= 0.772300 — 0.6265351

—1.19029 — 3.412711

—2.10600 + 2.625161

u = —0.050221 + 1.0767901

4.64273 + 2.767471

5.41762 — 3.213771

u = —0.050221 — 1.0767901

4.64273 — 2.767471

5.41762 + 3.213771

u= 0.727524 + 0.8608491

—4.64273 — 2.767471

—5.41762 + 3.213771

u= 0.727524 — 0.8608491

—4.64273 + 2.767471

—5.41762 — 3.213771

u = —0.494052 + 0.6638561

0.022819 + 1.3777001

0.88590 — 4.122071

u = —0.494052 — 0.6638561

0.022819 — 1.3777001

0.88590 + 4.122071

u = —0.622207 4+ 1.0010707

1.19029 + 3.412711

2.10600 — 2.625161

u = —0.622207 — 1.0010701

1.19029 — 3.412711

2.10600 + 2.625161

uw= 0.683715 4+ 1.0255901

— 8.935861

0.+ 7.260771

u= 0.683715 — 1.0255901

8.935861

0. —7.260771

u = —0.517057 + 0.4544831

—0.022819 + 1.3777001

—0.88590 — 4.122071

u = —0.517057 — 0.4544831

—0.022819 — 1.3777001

—0.88590 + 4.122071




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢4 Wt B 1
C2, Cs u F5ul o F3u 1
€3, Cr ut =P U+l
Cg, C8 Wt =5 —3u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4 y14+5y13++3y+1
Cr
C2,Cs, Ce y14+9y13++15y+1
(&3




